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JAWAPAN KIMIA KERTAS # 3

Question

. Marks Scheme

Marks

1(a)

Able to state all the voltmeter readings accurately with correct decimal
place and unit

Sample answer:

IWandCu:28V

XandCu:0.8V

“lYandCu: 1.4V

ZandCu:04V

| Able to state at least three voltmeter readings acci/rately without unit or

with unit but wrong decimal place www.myschoolchildren.com

Samgle answer:
WandCu:28/280V

XandCu:0.8//0.80V
YandCu:1.4/ 140V
ZandCu:0.4// 040V

Able to state at least two readlngs correctly W|thout unit

No response_ or wrong response

Question

Marks Scheme

Marks

1(0) -

Able to state the relationship between.the mampulated variable and the
responding variable wrth direction.

Sample answer:
The further the distance between two metals in the electrochemlcal

series, the bigger is the voltage value

Able to state the relationshrp belween the manipulated vanable and
responding variable.

Sample answer: - ‘ : )
Different palr of metals have dlfferent voltage value .

Able to State the ldea of hypothesis '

Sample answer: .
Pair of dlfferent metals shows voltmeter reading

&+

No response or wrong response cl
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Question

Marks Scheme

Marks

1(c)

Able to construct a table to record the voltmeter reading for each pair of
metals that contain:

1. Correct titles with unit

2. Correct readings

Sample answer

Pairs of metals Voltage / V
W and Cu 2.8
X and Cu 0.8
YandCu . |. .14
Z and Cu - 04

Able to construct a less accurate table that c‘oqtains: ‘
1. Tittes without unit
2. At least two correct readings

Able to construct a table W|th at least one tltle and one readim

No response Ol' wrong I esponse

Questien

Marks Scheme

lvlarks

1(d)

Able to state all the three vanables correctly

Samgle answer:
Manipulated variable: Pairs of’ metals// négative terminal

Responding variable: Voltmeter reading // Voltage
Constant variable: Copper electrode, copper(ll) sulphate solution

Able to state any two variables correctly

Able to state any one variable correctly

-

No response or wrong respo‘nse

Question

Marks Scheme

1(e)

Able fo state the correct opérational definitron for the posrtron of metals
in the electmchemical series.

- | Sample answer:

When the voltmeter reading of two metals dipped in.an electrolyte is

'| bigger, the position between the’ two metals in the electrochemlcal

series Is funher apart.

“Marks

'Able fo state the position of metals in the electmchemlcal series '

Sample answer: . K o
The further the distance belween two metals in the electrochemlca‘
series, the voltmeter readlng Is bigger - . . :
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4
Able to stale an idea of position of metals 1
Sample answer:
Position of metals is influenced by voltage //
Different metals shows different voltmeter reading
No response or wrong response -0
Quest?on‘ Marks Scheme T o I Marks
1(f) Able to state all the correct observations and inferences ) 6
| Sample answers:
After 20 minutes Obseryatidns ) " Inferences
. . Eleétrode . The metal atoms
Atthe negative terminal dissolves / ) release electrons to
becomes thinner | form ions
‘ i " | The copper(ll) ions -
At the positive terminal E:zt::g:thlcker accept electrons to
. form copper atoms
) el Concentration of
“=- || Copper(il) sulphate Intensity of blue Cu® ions decreases
. solution decreases (241
solution // Cu** ions are
{/ Blue solution " :
turns pale blue discharged to form
. pal copper atoms
Able to state any flvq correét obsérvatfons and its fﬁferences . 5
Able to state any four correct observations and its inferences 4
Able to state any three corfect observations and fts inferences =3
Able to state any two correct observations and its inferences _ 2
Able to state any one correct observation and its inference 1
No response or wrong response . 0 .
Question ' . : . : Marks Séheme ~" ~ Marks
1(g) Able to arrange in ascendi g order of all the metals 3.
Sample answer: . :
Cu,Z X, Y, W .
Able to arrange any four metals in correct ascéndin order K 2 -
Able to arrange any three metals'in correct ascending order . 1.
- 0

No response or wrong response ~__ - . -
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Question ) Marks Scheme Marks
1(h) Able to predict the three positive terminals and three voltage 6
values for all pairs of metals correctly .
Sample answer: . ‘ : )
Pair of Metals Positive Terminal Voltage / V
Pasangan logam Terminal Positif Voltan/ V
W and X s X . 2.0
" XandY X 0.6
WandZz z 24
Able to state any five correct positive terminals and voltage 5
Able to state any four correct pasitive terminals and voltage 4
Able to state any three correct positive terminals and voltage 3
Able to state any two correct positive terminals and voltage 12
Able to state.any one correct positive terminal and voltage’ 1
No response or wrong response 0
Question - Marks Scheme o ~ Marks
1(i) Able to cIassify all the four substances correctly ) 3 -
Samgle answer: '
Can be made. as ele;:trelyte . Cannot be made as electtolyte. .
Sodium chloride solution Glucose solution
Dilute sulphuric acid T Glacial ethanoic acid .
Able to classify any three substances corectly .. 5 B 2
Able to classify any two substances correctly ’ . 1
No response or wrong res:’ponse. S A . -0 !
Question [ ‘ . Marks Scheme T T Marks .
2(a) Able to state the problem statement accurately. . 3 :
Sample answer - * . S | L .
What Is the effect on rusting whién Iron is'in contact with other metals? ‘ e ..
{// How do different types of metals in contact with iron affect rustmg? )
Able to stete the pmblem statement but Iess accurately o I 2 )
Samiple answer IR S
What is the effect of other metals on rusting? ‘

/I To investigate the effect of different metals on the rusting of iron.



"
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Able to give an idea of statement of the problem.

Sample answer:
How rusting occurs?

Il To investigate the effect of metals on rusting
Il To investigate rusting

No response or wrong response

Question.

.Marks Scherﬁe

Marks .

2(b)

Able to state all variables correctly.

.| Sample answer:

Manipulated variable: Different types of metals in contact with iron
Responding variable: Rusting of iron // Iron rusts or does not rust
/I Formation of blue oolouratlonlspot
Fixed variable: Iron nails // Electrolyte/(name) /l AgarIJelly solution //
" Temperature .

Able te state any two variables correcily.

Able to state any one variable correctly.

-

No response or wrong response

Question

Marks Scheme :

Marks

2(c)

Able to state the relationship between the manipulated variable and the .

responding variable with direction correctly:

Sample answe .
A more electroposmve metal will prevent fron from- rusting while a less

electropositive metal will speed up rusting of iron.

Able to state the relationship between lhe mampulated variable and the

responding variable:

Sample answer:
[Mg /Al /Zn) speeds up iron nall rustlng whlle [Sn 1Pb/ Cu] slows

down rusting: .
/I A more-electropositive metal will prevent iron from rusting
/I A less electropositive metal will speed up rUstlng of iron.

Able to state an idea of hypothes:s

‘Sample answer:

[Name suitable metal] affects the rusting of iron

No response or WI'OI'IQ I’BSpOﬂSG




4‘* “

www.banksoalanspm.com

Question

Marks Scheme

Marks

2(d)

Able to give a complete list of materials and apparatus that involves the
following:

1. Iron nails

2. 1 metal above iron in electrochemical series

3. 1 metal below iron in electrochemical series

4. A suitable electrolyte, test-tubes, sand paper

Sample answer:
Iron nails, magnesium/zinc/aluminium strip, tmlcopperllead/sulver strip,

hot jelly containing potassium hexacyanoferrate(lll) solution, test tubes/
boiling tubes, sand paper

Able to give a list of materials and apparatus that involves the followmg.

1. 1 metal above iron in electrochemical series
2. 1 metal below iron in electrochemical series
3. Any suitable electrolyte, any su:table contafner

Able to give a list of matenals and apparatus that mvolves the following:

1. 1 metal above/below il iron in electmchemical series //
any suitable electrolyte.
2. Any container

No response or wrong response -

Question

Marks Scheme A

Marks, )

2(e)

Able fo sfate the following 6 steps: .

[Clean iron nails and metal strips with sand paper]
. [Coil the iron nails with the metals]

[Place the iron nails in separate container]

. [Pour/addffill the [electrolyte] into the container]
[Ledve them aside for several days]

[Record your observatlon]

SoRwN

Sample answer:

1. Clean iron nails, magneslum ribbon and oopper stnp with sand
paper.
Coil two iron nails tightly wrth magneslum nbbon and copper
strip.
Place all the iron nails in separate test tubes. ’
Pour the hot jelly containing potassium hexacyanoferrate(lll)
solution into the test tubes. '

several. days : )
Record your observations :

Lo e AW N

Keep the test tubes’ Ina test tube rack and ledave them aside for

Steps 2,4, 6

Step 2[coll Iron nall with Mg/Cu], 4

O:—BN:'

“No response or wrong response.





